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1. The paper consists of three sections :- | 3. There is only one correct answer hence mark
Science (15 Questions), Mathematics one choice only.
10 uestions) and Mental abilit
ElS Ql?estions) ) 4 4. Darken your choice in OMR Sheet with Blue/
' Black Ball Point Pen.
2. All questions are compulsory and carry four
marks each. One mark is deducted for wrong
answer. 5. Return the OMR Sheet to the invigilator at
the end of the exam.
SCIENCE

Comprehension/Passage (Q.1 & 2): Airis a mix-
ture of several gases, water vapour and fine dust
particles. A human being respires about 22,000 times
everyday and takes in about 16 kg of air. Air con-
tains mainly nitrogen, oxygen and smaller amounts
of argon, carbon dioxide, water vapours and traces
of helium, neon, krypton and xenon. Requirement of
oxygen is an essential condition for burning of a
substance hence it plays an important role in com-
bustion. Nitrogen is a non-supporter of combustion
and isfilled in electric bulbs.

1. The component of air that support burning
is:
(A) Oxygen (B) Nitrogen
(C) Neon (D) Xenon

2. The component of air which is majorly present
inairis:
(A) Oxygen (B) Nitrogen
(C) Carbon-dioxide (D) None of these

3. The process of converting a liquid into solid
is called:

(A) freezing
(C) sublimation

(B) melting
(D) none of the above
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IR /T (Q.1 & 2): 9y, fAfe= i, STerarsy Jorr
&el B DU BT A0 B | Ueb HF U 1 % 22,000 IR zavi
PRAT & Sl b AT 16 fohell arg T8v1 el 2 | arg o J=ua:
ATSeToT, RIS 3R 7T A | J{H, BT SIEATRITSS,
STerarsy oI Eiferad, e, fhe qen S @ 8fer 81 2 |
& U & o | Ao &l SURATT gah S1fard aramer
2| 3 I8 T # Agaqut AfFeT At 2 | A1sgioe g8 #
TERITE B I7cT: 34 fAgd Iodi H WRT I 2 |

1. g HT 9T Sl STA H FERE B § —

(A) sifafror (B) rEgIor

(C) Fram (D) Sfr
2. arg # TR AT ¥ IUReIT 3faud § —

(A) sifefror (B) rEgIor

(C) pH—sEiiaags (D) $74 A Bl el
3. 9 BT 3N H S BT UhH PHEdTal & —

(A) o

(C) Seamrd=

(B) e

(D) &7 & ®Ig 78l
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10.

11.

12.

13.

14.

15.

Pure water is a:

(A) transparent material

(B) translucent material

(C) opaque material

(D) hard material

Two liquids that do not dissolve in each other
is called:

(A) Immiscible (B) Miscible

(C) Heterogeneous (D) Mixture

Which of these can easily attract magnets?
(A) Wood (B) Notebook

(©) Iron Nails (D) Copper plate
Atmosphere is extended upto Km into
space from Earth crust.

(A) 70 Km (B) 200 Km

(C) 3000 Km (D) 750 Km

Indian name of Milky Way galaxy is:

(A) Akash Ganga (B) Dhruv Tara

(C) Saptarishi (D) None of these
Which of the following is not considered as
planet?

(A) Jupiter (B) Moon

(C) Mars (D) Venus
Wedge is a kind of:

(A) Inclined plane (B) Spring

(C) Fulcrum (D) None of these
The part of banana plant not used as food
is:

(A) flower (B) fruit

(C) stem (D) root

Goitre: swelling of thyroid glands occurs due
to the deficiency of

(A) iron (B) potassium

(C) phosphrous (D) iodine

Which of the following nutrients is not present
in milk?

(A) Protein (B) Vitamin C

(C) Calcium (D) Vitamin D

Which one of the following is not the
function of leaf nhormally?

(A) Photosynthesis (B) Transpiration

(C) Respiration (D) Transportation
The aquatic animal whose skeleton is made
entirely by cartilages is the

(A) Shark (B) Dolphin

(C) Whales (D) Tuna

4.

10.

11.

12,

13.

14.

15.

G el BIAT & —

(A) IR gare

(B) urRHrReT gt

(C) srgreeft uaref

(D) ®oR ugTd

Q1 %9 S 319 ¥ fdeg 21 81 Wad dead § —
(A) arfasofrg (B) fasroiy

(C) fammiedy (D) fasror

T | DI FHS DI AN A BT FHeam g—
GYEEE (B) Areg®

(C) @re &I ®lal (D) M @I i

Yol & JATIRVT W AART H __ Km T argavse
e s & —

(A) 70 Km (B) 200 Km

(C) 3000 Km (D) 750 Km

fAed! 7 orRfl &1 RAT 9 & —

(A) 3TThTST T (B) ga drr

(C) It (D) 7 A BIS &
frfeRaa & 9 fod 78 & ©u § 981 7191 9T § —
(A) geeafa (B) =r==Ar

(C) wre (D) g

o1 o T T IPR B —

(A) e (B) f&f

(C) amedd (fulcrum) (D) 98 & @13 7181

Bl & U BT I8 AT Sl |1 & w0 § Ygad BT o—

(A) &t (B) w1

(C) (D) ofs

HSHTCAT : ATRIgS T H Ford P B B
PR BT 2 —

(A) 3RRA (B) Urefrm

(C) BRBRE (D) ST

1 % & T O ac g # SuRerd T&f 8T 87
(A) Bré= (B) Rt C

(C) dfeeraw (D) fderf= D

o1 § 9§ S| A= ufkrdl &7 B g | ?
(A) YebTeT Feerwor (B) wre

(C) Taw (D) uRaes

g ST ST @1 $1 Hblal quic: Tdiell 9
gesdi gRr e Ear © ?
(A) IR®
(C) aed

(B) SrerfrT
(D) &
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MATHEMATICS

16. Ten millions equal to: 16. =g fAferas & xreR BT —

(A) 10 lakh (B) 1 crore (A) 10 o (B) 1 )1

(C) 10 crore (D) 1 lakh (C) 10 T (D) 1 o
17. If x and y are two co-primes, then their LCM

is: 17. If3 x T y <7 WS ©, 99 BT A A9, BN —

(A) xy (B)X +y (A) xy (B)x+y

X X

© 5 (D)1 Ohv (D) 1
18. How many lakhs are there in one million? 18. U% fAfera # fbawt «irg 81d & —

(A) 100 (B) 10 (A) 100 (B) 10

(C) 1000 (D) None of these (C) 1000 (D) None of these
19. The smallest whole number is: 19. Y Bl T’T T 8 —

(A)1 (B)O (A) 1 (B)O

(C) -1 (D) Non-existant (C) -1 (D) Non-existant
20. ;I::]e whole number n satisfying n + 35 = 101 | »q, gof W1 n, n + 35 = 101 aﬁw P 2, B

(A) 65 (B) 67 (A) 65 (B) 67

(C) 64 (D) 66 (C) 64 (D) 66
21.  Write 548 in Roman number system: 21, 548 B [T e vl 7 (o -

(A) DXLVIIL (B XLVIII (A) DXLVIII (B) XLVIII

(C) LXDVIII (D) None of these (C) LXDVIII (D) None of these
22, (-12) x (-9) -6 x (-8) is equal to: 22, (-12) X (-9) -6 X (-8) B TR & —

(A) 156 (B) 60 (A) 156 (B) 60

(C) -156 (D) -60 (C) -156 (D) -60
23. 6 morethan-7is: 23. 63 3fAF -7 T —

(A) 1 (B) -1 (A) 1 (B) -1

(C) 13 (D) -13 (C) 13 (D)-13
24. Thesmallest natural number is: 24, G99 BIE] UIgd GT BRI —

(A) a (B)1 (A) a (B) 1

() -1 (D) None of these (C) -1 (D) T & PSS
25. The HCIf of two consecutive natural 25. @ HANTT Smd e B HCF 81 —

numbers is: ¢

(A) 0 (B) 1 (A)O (B) 1

(© 2 (D) non-existant ()2 (D) faerer e &
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MENTAL ABILITY

Direction (Q.26 to 27): Six Persons P, Q, R, S, T

26.

27.

28.

29.

30.

31.

32.

33.

and U are sitting in a circle facing one an-
other front to front. P is sitting in front of Q,
Q is sitting to the immediate right of T and
immediate left of R, P is to the left of U and
right of S.

Who is sitting oppossite to R?

(A) P (B) Q
(OR (D)U
Who is sitting between P and R?
(A) S B)T
(&u (D)Q
2,8,18,32,?

(A) 62 (B) 60
(C) 50 (D) 46
A C F?0

(A) G (B) H
()1 (D)J
(A) 64 (B) 36
(C) 34 (D) 60

Arrange the following group such that when
arranged in a specific order, meaningful word
is formed.

Y A H Y E
1 2 3 4 5
(A)2,3,4,5 1 (B)3,2,5,1,4
(©)3,5,2,1,4 (D)1,5,2,3,4

In a certain code, if TREE is coded as 7100,
FROG as 2159, how is FREE coded in that
code?

(A) 2100 (B) 3100

(C) 1003 (D) 1002

Reena walks Eastwards After a while she
turns to her left and then turn to her right.
Finally she turns to her left. In which direc-
tion is she moving now?

(A) West (B) East

(C) South (D) North

fder (Q.26 to 27): & afdd P, Q, R, S, T d2m U &

26.

27.

28.

29.

30.

31.

32.

33.

Mel # Th—gIR & IFT—AMA 4§ RSP 90 © |
P, Q@ M 9aT &, @1Q, T & dId < AR & S
U AR TSI, PbUD IU AR AATS P T AR & —

R & fud &I da71 8 ?

(A) P (B)Q
Q) s (D) U
Paur R & I HI do1 2 ?
(A)S B)T
(Au D)Q
2,8,18,32,7?

(A) 62 (B) 60
(C) 50 (D) 46
A C F? 0

(A)G (B)H
(O 1 (D) J

ENEA

VA

(A) 64 (B) 36

(C) 34 (D) 60

=1 9E @1 39 YHR FERed sy f& 99 a8
fafdre o9 # =raRerd &1, fob sriqel eeg &9 A% |
\Y A H Y E

1 2 3 4 5
(A)2,3,4,5,1 (B)3,2,5,1,4
(©)3,5,2,1,4 (D)1,5,2,3,4

v g d&a d, TREE @& 7100, FROG &f
2159 forad 8, FREE &1 fhd YR & Had # foran
ST —

(A) 2100 (B) 3100

(C) 1003 (D) 1002

4T 44 @1 3R FeAdl &, Ueb &707 41e 98 gl & qoll
I 915 g8 a0 Gl © | 3A=Icl: I8 &Y gl &, 3

g frafeamd e & 2 ?
(A) ufem (B) @@
(C) <feor (D) SR
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34. What is the value of
100 x 10 - 100 + 2000+ 100 ="
(A) 29 (B) 780
(C)920 (D) 979
35. 'Boat’ is related to 'Oar' in the same way as
'Bicycle' is related to:
(A) Road (B) Wheel
(C) Seat (D) Paddle
36. How many triangles are there in given figure:

AN
VAVAVA

(A) 8 (B) 7

(C)9 (D)5
Direction (Q.37 to 38): In each of the following
questions, choose the correct mirror image from
alternatives A, B, C and D of the Word/figure (X).

37. VINAYAKA
(A) INVAYAKA (B) AKAYAMIV
(C) AJTAYAUTV (D) AMAYANIV
38. @
(X)
(A) ®) © (D)
39. Find the water image of the following figure.
) < 8 I>
© A ©
40. A sheet has been folded in the manner as

shown in X, Y and Z respectively and
punched. You have to choose from the
alternatives how it will look when unfolded

4
4
X
/
4
X
pe 9 3 [P 5| [C %
Ll o al o o

(A) B) ©) (D)
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34. 100 x 10-100 + 2000 -+ 100 = ? &I A R &R —
(A) 29 (B) 780
(C) 920 (D) 979

35. 'Boat' &1 |d¥ 'Oar' ¥ g, 39 UHR 'Bicycle' &T
der foeRy BT —
(A) s (B) ufgar
(C) ¥ire (D) tree

36. <1 WA aefa H fad Bryst @ —

(A) 8 (B) 7
()9 (D)5
fder (Q.37 to 38): Awferiad weei # 9, <1 7 ampfix &
fd@wedr A, B, C IR D ¥ |l TUYT Ufifdw &1 9 Bifrg |

37. VINAYAKA
(A) INVAYAKA (B) AKAYAUIV
(C) AJAYAUTV (D) ANAYANIV
w |
(X)
(A) ®) © (D)
39. 3 Al @1 Sielid yfdfa o1 e Hiforg —
) <L 8) >
© A ©
40. TP IER BT 99 UPR AIST ST AT fob Her: arapfcr

X, Y e Z # @ ar g 91 S99 ue fdhar STrar
2 TU1 IS4 ve fhar 9ar ©, 3! fAwenr ¥ & a7
BT 2 fb 9 39 Wiell SR al I8 & e |

4
4
X
/
4
X
pe 9 3 [P 5| [C %
Ll o al o o

(A) B) ©) (D)





